

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-64939-68e11e0628c47**

VERIFY.FTGS.US Date: October 04, 2025

Seller (Exporter) Natrol Industries 21411 Prairie Street	Transport Type Air	Port of Loading LOS ANGELES
Chatsworth CA	Destination Country China	Destination Port SHANGHAI
USA	Export Date 2025-09-24	Exporting Carrier China Southern Airline
Consignee NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD, Room 104, B1 Building, No.9 Caoyijiang Road	Import Permit Number	Bill of Lading / AWB 784-68412680
Daqi Sub-District, Beilun District, Ningbo, Zhejiang China	Owner or Agent Agent	Forwarding Agent AWOT GLOBAL (USA) CORP
Buyer (Importer)	Remarks	

Consignor reference: NATROL LLC

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
i-HTP T/R 100mg Tab-45	9kg	United States
H.S.Code: 2106.90.6698 Marks: 120		
Riotin 10,000mcg Tab-100	9kg	United States
I.S.Code: 2106.90.6698 Marks: 120		
Kids Melatonin 1mg FD Tab-40	209kg	United States
I.S.Code: 2106.90.6698 Marks: 3600		
ids Melatonin 1mg Gummy-60	32kg	United States
I.S.Code: 2106.90.6698 Marks: 120 FICATE OF ORIGIN		
Gids Melatonin 1mg Gummy-90 Accredited Chamber US2100201	521kg	United States
I.S.Code: 2106.90.6698 Marks: 1500		
Magnesium Glycinate 240mg Capsule 60ct	6kg	United States
.S.Code: 2106.90.6698 Marks: 48		Z X X X X X X X X X X X X X X X X X X X
lelatonin 3mg F/D Tab-90	145kg	United States
I.S.Code: 2106.90.6698 Marks: 2100 AMBERS FED		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-64939-68e11e0628c47**

VERIFY.FTGS.US Date: October 04, 2025

Seller (Exporter) Natrol Industries 21411 Prairie Street	Transport Type Air	Port of Loading LOS ANGELES
Chatsworth CA	Destination Country China	Destination Port SHANGHAI
USA	Export Date 2025-09-24	Exporting Carrier China Southern Airline
Consignee NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD, Room 104, B1 Building, No.9 Caoyijiang Road	Import Permit Number	Bill of Lading / AWB 784-68412680
Daqi Sub-District, Beilun District, Ningbo, Zhejiang China	Owner or Agent Agent	Forwarding Agent AWOT GLOBAL (USA) CORP
Buyer (Importer)	Remarks	

Consignor reference: NATROL LLC

escription May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
elatonin 3mg Tab-60	10kg	United States	
S.Code: 2106.90.6698 Marks: 168			
elatonin 5mg Gummy-60	128kg	United States	
S.Code: 2106.90.6698 Marks: 480			
elatonin 5mg Gummy-90	312kg	United States	
S.Code: 2106.90.6698 Marks: 900			
elatonin 5mg F/D Tab-30	25kg	United States	
S.Code: 2106.90.6698 Marks: 600 FIGATE OF ORIGIN			
elatonin 5mg F/D Tab-90 Accredited Chamber US2100201	260kg	United States	
S.Code: 2106.90.6698 Marks: 4200			
elatonin 5mg T/R Tab-100	57kg	United States	
S.Code: 2106.90.6698 Marks: 840			
elatonin 10mg F/D Tab-30	17kg	United States	
S.Code: 2106.90.6698 Marks: 240 4 Marks: 250			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-64939-68e11e0628c47**

VERIFY.FTGS.US Date: October 04, 2025

Seller (Exporter) Natrol Industries 21411 Prairie Street	Transport Type Air	Port of Loading LOS ANGELES
Chatsworth CA USA	Destination Country China	Destination Port SHANGHAI
Consignee	Export Date 2025-09-24	Exporting Carrier China Southern Airline
NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD, Room 104, B1 Building, No.9 Caoyijiang Road	Import Permit Number	Bill of Lading / AWB 784-68412680
Daqi Sub-District, Beilun District, Ningbo, Zhejiang China	Owner or Agent Agent	Forwarding Agent AWOT GLOBAL (USA) CORP
Buyer (Importer)	Remarks	EN ACT EN

Consignor reference: NATROL LLC

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
lelatonin 10mg F/D Tab-100 (Xylitol)	22kg	United States	
.S.Code: 2106.90.6698 Marks: 192		MANAGE PARTIES	
elatonin 10mg Gummy-60	32kg	United States	
.S.Code: 2106.90.6698 Marks: 120			
lelatonin 10mg Gummy-90	125kg	United States	
.S.Code: 2106.90.6698 Marks: 360			
elatonin Max 10mg Gummy-50	27kg	United States	
S.Code: 2106.90.6698 Marks: 108 FICATE OF ORIGIN			
elatonin Advanced Sleep 10mg Tab-30 ited Chamber US2100201	13kg	United States	
.S.Code: 2106.90.6698 Marks: 240			
lelatonin Advanced Sleep 10mg Tab-60	40kg	United States	
.S.Code: 2106.90.6698 Marks: 600		DAVA A	
lelatonin Advanced Sleep & 5-HTP B/L Tab-60	17kg	United States	
.S.Code: 2106.90.6698 Marks: 180 4 MBERS FED			
	[]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]]		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-64939-68e11e0628c47

VERIFY.FTGS.US Date: October 04, 2025

Port of Loading Transport Type Seller (Exporter) Air LOS ANGELES **Natrol Industries** 21411 Prairie Street **Destination Country Destination Port** Chatsworth China SHANGHAI USA **Export Date Exporting Carrier** China Southern Airline 2025-09-24 Consignee NINGBO NINGSHING UBAY CROSS-BORDER Import Permit Number Bill of Lading / AWB TECHNOLOGY CO.,LTD, 784-68412680 Room 104, B1 Building, No.9 Caoyijiang Road Daqi Sub-District, Beilun District, Ningbo, Zhejiang Owner or Agent Forwarding Agent AWOT GLOBAL (USA) CORP Agent

Remarks

Consignor reference: NATROL LLC

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Melatonin 5mg Tab-60	3kg	United States
H.S.Code: 2106.90.6698 Marks: 60		
Natrol Sleep & Restore Gummies Non-Melatonin 60ct	28kg	United States
H.S.Code: 2106.90.6698 Marks: 60		
Natrol Sleep & Restore Capsule Non-Melatonin 60ct	4kg	United States
H.S.Code: 2106.90.6698 Marks: 60		
end of products	====	
CERTIFICATE OF ORIGIN		
CAAMBERS FEDERATION		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.





NATROL 21411 Prairie Street, Chatsworth, CA 91311 Website: WWW.NATROL.COM Phone: (818) 739-6000 Fax: (818) 739-6000

BILLING ADDRESS	INFORMATION
Waterbright (HK) Trading Co., No. 165-171 Wan Chai Road, Wan HK Postal Code	Invoice: 2922 Invoice Date: 09-16-2025 Mode of Shipment: Shipment Terms: FOB Payment Terms: PP Currency: USD Purchase Order No: WB25009147
SHIPPING ADDRESS NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD, Room 104, B1 Building, No.9 Caoyijiang Road Daqi Sub-District, Beilun District, Ningbo, Zhejiang	Turchase Order 140 : W B23007147

INVOICE DETAILS

Sales Order No	Item	Material Description	Batch & Exp.Date	Qty	UM	Unit Price	Amount
687384	10	5228.941 5-HTP T/R 100mg Tab-45 V5	2093928 06-30-2027	10	CS	107.91	1079.10
687384	20	5396.931 Biotin 10,000mcg Tab-100 V4	2093783 05-31-2027	10	CS	97.11	971.10
687384	30	7529.911 Kids Melatonin 1mg F/D Tab-40 V2	2094249 06-30-2027	300	CS	64.71	19413.00
687384	40	7692 Kids Melatonin 1mg Gummy-60	2093820 12-31-2026	10	CS	72.81	728.10
687384	50	7530 Kids Melatonin 1mg Gummy-90	2094120 01-31-2027	125	CS	91.71	11463.75
687384	70	8350 Magnesium Glycinate 240mg Capsule 60ct	YD337 07-31-2027	4	CS	113.31	453.24
687384	80	6076.957 Melatonin 3mg F/D Tab-90 HFF V4	2093880 05-31-2027	175	CS	59.31	10379.25
687384	90	510.921 Melatonin 3mg Tab-60 V3	2093331 09-30-2027	14	CS	48.51	679.14
687384	110	7585 Melatonin 5mg Gummy-60	P250212 04-14-2027	40	CS	75.51	3020.40
687384	120	7332 Melatonin 5mg Gummy-90	6410864 06-01-2027	75	CS	91.71	6878.25
687384	130	7168.957 Melatonin 5mg F/D Tab-30 HFF V4	2094043 06-30-2027	50	CS	43.11	2155.50
687384	140	5865.957 Melatonin 5mg F/D Tab-90 HFF V5	2094289 07-31-2027	350	CS	70.11	24538.50
687384	150	4837.931 Melatonin 5mg T/R Tab-100 V4	2094476 08-31-2028	70	CS	70.11	4907.70



Sales Order No	Item	Material Description	Batch & Exp.Date	Qty	UM	Unit Price	Amount
687384	160	7170.931 Melatonin 10mg F/D Tab-30 V5	2094316 07-31-2027	20	CS	64.71	1294.20
687384	170	7166.957 Melatonin 10mg F/D Tab-100 HFF V4	2093938 06-30-2027	16	CS	107.91	1726.56
687384	180	7586 Melatonin 10mg Gummy-60	P250255 04-30-2027	10	CS	75.51	755.10
687384	190	7331 Melatonin 10mg/serv Gummy-90	6291632 05-31-2027	30	CS	91.71	2751.30
687384	200	7881 Melatonin Max 10mg Gummy 50ct	2093907 12-31-2026	9	CS	97.11	873.99
687384	220	7171.931 Adv Sleep Melatonin 10mg T/R 30ct	2091816 04-30-2027	20	CS	59.31	1186.20
687384	230	5964.931 Adv Sleep Melatonin 10mg T/R Tab-60 V4	2093929 05-31-2028	50	CS	75.51	3775.50
687384	240	7229.931 Adv Sleep Melatonin&5-HTP B/L Tab-60 V4	2094291 07-31-2027	15	CS	97.11	1456.65
687384	260	4462.921 Melatonin 5mg Tab-60 V3	2094257 07-31-2027	5	CS	64.71	323.55
687384	280	8358 Sleep & Restore Gummy 60ct Cherry	P250164 03-27-2027	5	CS	140.31	701.55
687384	300	8352 Restore Capsule w/o Melatonin 60ct	2093313 05-31-2027	5	CS	124.11	620.55
Total Amou	ınt		-				102132.18



Phone: (818) 739-60 **Pelivery Note** www.natrol.com

Shipping Address

NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD, Room 104, B1 Building, No.9 Caoyijiang Road Dagi Sub-District, Beilun District, Ningbo, Zhejiang

Sold To Address,

Waterbright (HK) Trading Co., Ltd Flat/RM 02 16/F, Lucky Centre No. 165-171 Wan Chai Road, Wan Chai . HONG KONG HONG KONG

Information

Document Number 80796948
Document Date 09/19/2025

Purchase Order No. WB25009147
Purchase Order Date 09/09/2025
Sales Order Number 687384
Customer Number 1017211

Forwarding Agent 10870 United Parcel Service Tracking Number

Shipping Conditions Package

Incoterms FOB Origin Prepaid

 Gross Weight
 4,774.610
 LB

 Net Weight
 2,540.544
 LB

 1 of 3
 3

Ship	Shipping Details						
Item	Material Description	Quantity	Weight				
0010	5228.941 5-HTP T/R 100mg Tab-45 V5 Batch 2093928	10 CS	4.200 LB				
0020	5396.931 Biotin 10,000mcg Tab-100 V4 Batch 2093783	10 CS	10.560 LB				
0030	7529.911 Kids Melatonin 1mg F/D Tab-40 V2 Batch 2094249	300 CS	108 LB				
0040	7692 Kids Melatonin 1mg Gummy-60 Batch 2093820	10 CS	39.960 LB				
0050	7530 Kids Melatonin 1mg Gummy-90 Batch 2094120	125 CS	771 LB				
0060	8350 Magnesium Glycinate 240mg Capsule 60ct Batch YD337	4 CS	0.480 LB				
0070	6076.957 Melatonin 3mg F/D Tab-90 HFF V4 Batch 2093880	175 CS	174.300 LB				
0080	510.921 Melatonin 3mg Tab-60 V3 Batch 2093331	14 CS	18.480 LB				
OS ANGE CO.	STEE CHAMBER OF STEEL C						

Phone: Website:

(818) 739-60 **Pelivery Note**

Shipping Address

AWOT C/O YUEJIE INC 5353 W Imperial Hwy Ste 700 Los Angeles CA 90045

Sold To Address,

Waterbright (HK) Trading Co., Ltd Flat/RM 02 16/F, Lucky Centre No. 165-171 Wan Chai Road, Wan Chai . HONG KONG HONG KONG

Information

Document Number 80796948 **Document Date** 09/19/2025

Purchase Order No. WB25009147
Purchase Order Date 09/09/2025
Sales Order Number 687384
Customer Number 1017211

Forwarding Agent 10870 United Parcel Service

Tracking Number

Shipping Conditions Package

Incoterms FOB Origin Prepaid

 Gross Weight
 4,774.610
 LB

 Net Weight
 2,540.544
 LB

 2 of 3

Ship	Shipping Details						
Item	Material Description	Quantity	Weight				
0090	7585 Melatonin 5mg Gummy-60 Batch P250212	40 CS	161.280 LB				
0100	7332 Melatonin 5mg Gummy-90 Batch 6410864	75 CS	455.400 LB				
0110	7168.957 Melatonin 5mg F/D Tab-30 HFF V4 Batch 2094043	50 CS	16.800 LB				
0120	5865.957 Melatonin 5mg F/D Tab-90 HFF V5 Batch 2094289	350 CS	348.600 LB				
0130	4837.931 Melatonin 5mg T/R Tab-100 V4 Batch 2094476	70 CS	60.480 LB				
0140	7170.931 Melatonin 10mg F/D Tab-30 V5 Batch 2094316	20 CS	7.200 LB				
0150	7166.957 Melatonin 10mg F/D Tab-100 HFF V4 Batch 2093938	16 CS	17.856 LB				
0160	7586 Melatonin 10mg Gummy-60 Batch P250255	10 CS	40.440 LB				
OS ANGELOS	THE CHANGE OF TH						

Phone: (818) 739-60 **Pelivery Note** www.natrol.com

Shipping Address

AWOT C/O YUEJIE INC 5353 W Imperial Hwy Ste 700 Los Angeles CA 90045

Sold To Address,

Waterbright (HK) Trading Co., Ltd Flat/RM 02 16/F, Lucky Centre No. 165-171 Wan Chai Road, Wan Chai . HONG KONG HONG KONG

Information

 Document Number
 80796948

 Document Date
 09/19/2025

Purchase Order No. WB25009147
Purchase Order Date 09/09/2025
Sales Order Number 687384
Customer Number 1017211

Forwarding Agent 10870 United Parcel Service

Tracking Number

Shipping Conditions Package

Incoterms FOB Origin Prepaid

Shipping Details					
Item	Material Description	Quantity		Weight	
0170	7331 Melatonin 10mg/serv Gummy-90 Batch 6291632	30	CS	172.080	LB
0180	7881 Melatonin Max 10mg Gummy 50ct Batch 2093907	9	CS	29.808	LB
0190	7171.931 Adv Sleep Melatonin 10mg T/R 30ct Batch 2091816	20	CS	5.280	LB
0200	5964.931 Adv Sleep Melatonin 10mg T/R Tab-60 V4 Batch 2093929	50	CS	26.400	LB
0210	7229.931 Adv Sleep Melatonin&5-HTP B/L Tab-60 V4 Batch 2094291	15	CS	21.600	LB
0220	4462.921 Melatonin 5mg Tab-60 V3 Batch 2094257	5	CS	3.540	LB
0230	8358 Sleep & Restore Gummy 60ct Cherry Batch P250164	5	CS	39.600	LB
0240	8352 Restore Capsule w/o Melatonin 60ct Batch 2093313	5	CS	7.200	LB
OS ANGELGO	THE CHAMBER OF THE PARTY OF THE				